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Cq Cg  Ci0 GCs C3 ¢t i1 C2

Ideals for irreducible component#ﬂ)f Xpar

IV = (P 4+ 2u% o —u 1)

* 2 irreducible components of dim¢ = 0, with total 55 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-

fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).
2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated

in decimal forms when there is not enough margin.
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LI*=(u*4+2u% 4+ ... —u+1)

(i) Arc colorings

w- (1)

ag —

ag =

—uM 4+ 4u® — 40" — 205 + 33

—u' +5u% — 8uT +3u +ud +u
w® —2ud +u

uw —3u +2ud +u

w? — 500 + 948 —6ub +u?+1 >

az =

ar = \ ¢y — 6u'? + 13u!% — 10u® — 2ub + 4u* + u?

w0 —13uB + -+ 22+ 1 )

ar = \u3? — 14430 + - .- — 200u® + 2u?
2u +ut? 4 — w2
az = \2u% 4+ 20”2+ - —u+1
20 +uP? 4+ —u+ 2
az = \2u% 4+ 20?2+ —u+1
(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u®® + 96u°! + -+ + 12u — 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1,Ce Wt oo w1
@ w240 o — w1
c3 Wt 30 4 13u+ 5
C4,C8,C9 u54—2u53+...+u+1
C5, C7 U54—20u52+_23u+1
€10 w1207 4 - 4 297U + 23
c11 W30+ 11lu+5




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

o1, ¢ v 2y ety 4l

Co y54+12y53+..._11y+1

cs Yo+ 3y%3 4+ — 260y + 25

C4,C8, C9 yr =48y by 1

Cs, C7 > —40y™ + - - 207y + 1

1o y + 8y°% + - 4+ 11749y + 529

- vt + 3y + -+ 1139y + 25




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

0.963853 + 0.2397211

1.70219 — 6.380601

—2.45012 + 6.073101

0.963853 — 0.2397211

1.70219 + 6.380601

—2.45012 — 6.073101

—0.915784 4 0.2281151

3.41733 + 1.259091

0.259004 — 1.1129871

—0.915784 — 0.2281151

3.41733 — 1.259091

0.259004 + 1.1129871

—0.789465 + 0.2673661

3.26830 — 1.408261

—0.268768 — 0.4426701

—0.789465 — 0.2673661

3.26830 4 1.408261

—0.268768 + 0.4426701

0.758491 + 0.3080611

1.40844 + 6.518451

—3.38857 — 4.087501

0.758491 — 0.3080611

1.40844 — 6.518451

—3.38857 + 4.087501

0.256667 + 0.7323481

3.15875 — 10.416401

—0.77334 + 8.794691

0.256667 — 0.7323481

3.15875 + 10.416401

—0.77334 — 8.794691

—0.243755 4 0.7283051

5.12841 + 5.229171

2.37428 — 4.447641

—0.243755 — 0.7283051

5.12841 — 5.229171

2.37428 4 4.447641

—0.206060 + 0.7237571

5.62286 + 2.458221

3.43259 — 3.890751

—0.206060 — 0.7237571

5.62286 — 2.458221

3.43259 + 3.890751

0.185877 + 0.7240881

4.07878 4 2.666941

1.14279 — 1.400151

0.185877 — 0.7240881

4.07878 — 2.666941

1.14279 + 1.400151

0.248073 + 0.6908161

0.11288 — 3.246801

—3.97449 + 4.319641

0.248073 — 0.6908161

0.11288 + 3.246801

—3.97449 — 4.319641

= 1.275390 + 0.1303661 —2.32233 — 0.588291 0
= 1.275390 — 0.1303661 —2.32233 + 0.588291 0
= —1.301090 + 0.2015731 —3.00640 + 4.838931 0
= —1.301090 — 0.2015731 —3.00640 — 4.838931 0

—0.335824 + 0.5695691

—2.75425 + 5.163031

—6.62576 — 8.317381

—0.335824 — 0.5695691

—2.75425 — 5.163031

—6.62576 + 8.317381

—0.388647 + 0.4748011

—3.08098 — 1.838881

—8.29710 + 0.165501

—0.388647 — 0.4748011

—3.08098 + 1.838881

—8.29710 — 0.165501

||| |22 || |2(g|e|e|r|g|g|g|g|g|”f|g|g|g|g|g|g|g |

= 1.389140 + 0.0675261 —3.09355 + 0.761241 0
= 1.389140 — 0.0675261 —3.09355 — 0.761241 0
= —1.367000 + 0.2883681 —0.833592 4 0.9952041 0
= —1.367000 — 0.2883681 —0.833592 — 0.9952041 0




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u=0.059975 4 0.5941951 1.20313 — 1.954071 2.79385 + 4.452911
u=0.059975 — 0.5941951 1.20313 + 1.954071 2.79385 — 4.452911
u = —1.400510 + 0.1185751 —7.31911 4 1.486591 0
u = —1.400510 — 0.1185751 —7.31911 — 1.486591 0
u = 1.378690 + 0.2891791 0.59736 — 6.127101 0
u= 1378690 — 0.2891791 0.59736 + 6.127101 0
u = —1.396360 + 0.2084401 —5.56771 4 4.072191 0
u = —1.396360 — 0.2084401 —5.56771 — 4.072191 0
u = —1.41551 + 0.072071 —5.12761 — 5.611691 0
u = —1.41551 — 0.072071 —5.12761 + 5.611691 0

u = 0.544247 4 0.2053291 —1.48527 — 0.151641 | —7.75648 4+ 0.916711
u = 0.544247 — 0.2053291 —1.48527 4-0.151641 | —7.75648 — 0.916711
u= 0.274528 + 0.5115381 —0.243608 — 1.3710101 | —2.52596 + 5.060441
u= 0.274528 — 0.5115381 —0.243608 4- 1.3710101 | —2.52596 — 5.060441

u = —1.39901 + 0.274451 —5.13575 4 6.762811 0

u = —1.39901 — 0.274451 —5.13575 — 6.762811 0

u= 141497 + 0.188551 —8.77151 — 0.633211 0

u= 141497 — 0.188551 —8.77151 4 0.633211 0

u= 1.39845 + 0.290731 —0.09729 — 8.927061 0

u= 1.39845 — 0.290731 —0.09729 + 8.927061 0

u = 1.41558 4+ 0.219561 —8.33472 — 8.066211 0

u = 1.41558 — 0.219561 —8.33472 4 8.066211 0

u = —1.40491 + 0.291961 —2.1336 + 14.13481 0

u = —1.40491 — 0.291961 —2.1336 — 14.13481 0




II. I; = ('u,— 1>

(i) Arc colorings
0
aq = 1
ag —

ag =

az =
a7 =
ayp =

ag =

-

(ii) Obstruction class = —1

[ e e i e = = e e =)
e e o~

(iii) Cusp Shapes = —6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C4
€5, C6,; C7 utl
€8, C9, C10
€3,C11 U




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C4
€5, C6,; C7 y—1
€8, C9, C10
C3,C11 )




(vi) Complex Volumes and Cusp Shapes

Solutions to I3 v—1(vol + /—1C5) Cusp shape

u = 1.00000 —1.64493 —6.00000

10



ITI. u-Polynomials

Crossings u-Polynomials at each crossing

€1, C6 (u+ 1)’ — 20" + - —u+1)
“2 (u+ 1) (w4 240 4 - —u+ 1)
c3 w(u® + 30 4 -+ 13u+ 5)

C4,C8,Co (u+1)(u* — 20" + - +u+1)

C5,C7 (u+1)(u®* — 2002 4 -+ — 23u + 1)

€10 (u+ 1) (™ + 120" + - - + 297u + 23)
1 w(w™ —3u% 4 - 4 11u + 5)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1, G (y =D — 249+ +y +1)
2 (y— D +129"% + - — 11y + 1)
€3 y(y™* + 3y°3 + -+ — 269y + 25)
Cy4,Cg,Cy (y — 1)y =48y + - 4y +1)
cs,cr (y— (™" —40y°% + -+ — 20Ty + 1)
c ~ 1) (% 53 ..
10 (y— )™ +8y°® + -+ + 11749y + 529)
11 y(y™ +3y° + -+ + 1139y + 25)
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